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ANSWER ALL QUESTIONS

a) With reference to earth work computation explain what is meant by the
following(8marks)
(i) Trapezoidal and prismoidal rules.
(ii) Prismoidal correction.
(iti) Haul, free haul and overhaul.

(iv) Mass Haul diagram.
b) Working from first principles, derive the trapezoidal and simpsons rule for
computing arcas(6marks) -~ . '

c) The following perpendicular ofTsets were measured from a chain linc to an
irregular boundary. Calculate the area between the chain line and the
irregular boundary using Simpson's rule(6marks)

: na i : :
Offset(m): 24 1.8 36 28 32 2.0

d) It is intended to construct a dam across a river so that the reservoir will
contain water upto 2350m contour. Arcas enclosed within various contours
are given in the following fablc.

Contour(m) | 2300 2310 2320 2340 2350
Area(Ha) 12.7 259 322 48.2 72.1
i. Calculate the capacity of the reservoir using prismoidal rule(5 marks)
il. Calculate the reduced level of water in the reservoir during dry season
if water capacity reduced by 25%. (Smarks).

e) With the aid of an appropriate diagram, explain the propertics of a Mass

Haul Diagram (6mark3) : . _
N State some of the sources of errors in leveling, (4marks),
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